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QUESTION 1

A music production company\\'s application contains the following classes:

UPlusMusic-Production-Work-
UPlusMusic-Production-Work-Studio-
UPlusMusic-Production-Work-Brand-
UPlusMusic-Production-Work-Studio-Recording
UPlusMusic-Production-Work-Studio-Editing
UPlusMusic-Production-Work-Brand-Marketing
UPlusMusic-Production-Work-Brand-Distribution

A requirement states that users assigned the role "Manager" can edit objects related to any studio work.

At which position in the class hierarchy do you configure an Access of Role to Object (ARO) record to satisfy this
requirement?

A. UPlusMusic-Production-Work-Brand-Marketing
B. UPlusMusic-Production-Work-Studio-Editing
C. UPlusMusic-Production- Work-Studio-

D. UPlusMusic-Production- Work-

Correct Answer: D

QUESTION 2

HOTSPOT

A hospital uses a Patient visit case type to track patient visits to the Emergency Room (ER). The case type can create
Lab analysis and Diagnostic imaging child cases. While the child cases are active, the attending doctor or nurse must
be

able to update the patient visit case with notes and treatment recommendations.

In the Answer Area, select the configurations which allow a doctor or nurse to update the parent case while lab and
imaging technologists perform assignments on their respective child cases.

Hot Area:



Case Types Configuration

Patient visit Allow multiple users b
Lab analysis Allow other users to open the parentca.. ¥
Diagnostic imaging Allow other users to open the parentca.. | ¥

Correct Answer:

Case Types Configuration

Patient visit | Allow multiple users v

Lab analysis | Allow other users to open the parentca.. ¥

Diagnostic imaging Allow other users to open the parentca.. ¥
QUESTION 3

Which statement regarding managing encrypted data in Pega Platform is true?
A. Encrypted properties cannot be referenced using filter conditions in reports.
B. Property-level encryption is a time-efficient method to encrypt data.

C. Encrypted properties can be referenced in report definitions.

D. Each organization uses a custom key to encrypt its data.

Correct Answer: AD

QUESTION 4

You are preparing to create a new major version of an application ruleset in which there are multiple minor and patch
versions. How do you create the new ruleset version?



A. Use the Ruleset Maintenance wizard to skim the relevant ruleset versions to copy the highest version of existing rules
to the new ruleset version.

B. Use the Ruleset Maintenance wizard to merge the existing rules in the relevant ruleset versions to the new version.
C. Use the Application Structure landing page to lock and roll the existing ruleset versions to the new version.

D. Create a new application ruleset using the appropriate version number, then copy the highest version of existing
rules into the new ruleset version.

Correct Answer: A

QUESTION 5

In a hiring case type, only HR Managers should have read access to a candidate\\'s reference letter attachment. Which
two tasks are used to fulfill this requirement? (Choose Two)

A. Configure read access for a user according to a privilege

B. Restrict read access according to a When condition

C. Configure attribute-based access control on the Attachment Category
D. Define a separate Attachment Category for HR Managers

Correct Answer: AD

QUESTION 6
DRAG DROP
Organize the classes and associated rules in the appropriate Enterprise Class Structure (ECS) layer.

Select and Place:

ECS Layer Answer Area
Organization ECS Laver Classes and Associated Rules
lcons and control formatting unique to a specific
Framework line of business
Assets expected to be extended in specific
Division applications

Assets customized for a specific application
Implementation

Access to enterprise data in external systems



Correct Answer:

ECS Layer Answer Area
ECS Laver Classes and Associated Rules
Division Icons and control formatting unique to a specific
line of business
Framework Assets expected to be extended in specific
applications
Implementation Assets customized for a specific application
Organization Access to enterprise data in external systems
QUESTION 7

A courier company wants a mobile app to scan and track the parcels collected from remote areas with no internet
access. Which mobile app do you develop to fulfill the requirement?

A. Signed app
B. Unsigned app
C. Native app

D. SDK app

Correct Answer: C

QUESTION 8
Which two use cases correctly describe controlling access to an attachment category? (Choose Two)
A. Configure the When condition "IsCurrentStageTesting" to allow users to view an attachment if the rule returns true.

B. Configure a Visible when condition called "IsDocumentPrivate" to allow users to view an attachment if the rule returns
false.

C. Configure the privilege "DeleteOwn" and assign it to a user so that a user can delete their own attachments.

D. Configure Client-based access control on the class where the attachment category exists to restrict access to the
attachment.

Correct Answer: AC




QUESTION 9

If a customer reports an issue with their order, an Investigation case is created. All investigation cases are higher priority
than other case types.

What configuration supports this requirement?

A. Create a service-level agreement (SLA) rule and ensure that the assignment is ready immediately.
B. Create a service-level agreement (SLA) rule and increase the initial urgency.

C. Increase the initial urgency on the case type settings.

D. Configure an optional action to enable manual changes to case urgency.

Correct Answer: A

QUESTION 10

Which statement describes the appropriate use of the Purge/Archive wizard to address application performance?
A. Delete any properties exposed in table columns from the BLOB.

B. Remove old cases to reduce the size of a database table.

C. Delete stored SQL procedures that have been updated.

D. Remove unused rules caches maintained on the system.

Correct Answer: B

QUESTION 11

A requirement states that when a case is assigned to a user for review, its work status is set to Open-Review. Which
two steps do you perform to implement this requirement? (Choose Two)

A. Configure a data transform to apply the Open-Review status on the appropriate assignments.
B. Add Open-Review as an allowed status on the case type record.

C. Create a field value record for the Open-Review status.

D. Apply the Open-Review status to the appropriate assignments.

Correct Answer: AD

QUESTION 12

Which two actions do you perform when using the Performance Analyzer (PAL) to ensure that you obtain accurate
performance data? (Choose Two)



A. Run the process to completion first to perform needed rule assembly and avoid skewed results.

B. Capture PAL readings after significant changes to a process to identify any performance impact.

C. Capture a PAL reading for a process with good performance to establish a benchmark for comparison.
D. Run PAL as an end user to account for any performance differences due to the portal itself.

Correct Answer: AB
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